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DIOIEMESRLTRSON(MH) 13,342,426 17,091,888 A3,749,462
307 2I2H0I & 13,342,426 17,091,888 A3,749,462

13,342,426 17,091,888 ~3,749,462 A3,749,462
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13,342,426,00080 - JI& 17,091,888,0008 = A3,749,462
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307 2I2H0I & 3,435,991 0 3,435,991
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350,085,000 * 141 = 350,085

[= 280,068

== 24,506]

A 45,511]
S0 =MEBHFZO (G4 ZH) 78,386 0 78,386
307 212+0| & 78,386 0 78,386

78,386 0 78,386|01 22U 2| 78,386

O =202 X AMd 78,386
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78,386,000& * 14 = 78,386
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[= &Z 92,886 JI& 16,120] [= 76,7661
& &F 9,289 JI& 1,612] [= 7,677]
[Al BE 13,933 J1 & 2,418] [Al 11,515]
EXN2AIES S EFC FA 2,298,586 2,239,452 59,134
S SN XA 151,478 114,208 37,270
307 220l A 150, 198 112,928 37,270
150,198 112,928 37,2701 01 222 F 24| 37,270
O 2DLEEAIY 37,270
O AS=LXXAAY
Z & 150,198,000& - J|& 112,928,000& = 37,270
[= &Z 120,158 J| & 90,343] [= 29,815]
(& 23 12,016 J1& 9,034] [& 2,982]
RS 8,024 7| & 13,551] [Al 4,473]
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O =202 X Ad 21,864
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(= 38 118,405 J1 & 103, 100] 15,305]
(& &F 17,674] 2,624]
[Al &2H 26,512] 3,935]
SXNHAT SEZAL =8 18,800 19,500 AT700
SXHAX SEZA 18,800 19,500 AT00
201 et2dd| 10,800 11,500 AT00
6,900 7,600 A700)102 B324Hl AT700
0332 % A200
O NsiEE
A3 220,000& - J1& 300,000& = A80
O g2E FUE
Z2& 1,080,000& - J1& 1,200,000 = 2120
O Xt& - At A 500
O MEFIOU(0L
& 0,000& - JIE 4,000,000& = A500
KA A2 =S X AMEIA 2 2,047,752 2,011,477 36,275
NSASIMEIA HIB 518,179 421,480 96,699
KNEAS=XE2AM 2 8,984 10,984 A2,000
307 gIzZtol s 8,000 10,000 22,000
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0 x XM 298l X2 (0larE2)
& 8,000,000& - JI& 10,000,000& = 22,000
e 59,245 50,245 9,000
201 Let=EHl 2,000 3,000 A 1,000
2,000 3,000 21,0001 01 AbS 2 A 1,000
ax= 21,000
O < e S0
,000,000& - J1¥ 2,000,000 = 21,000
301 LEtE Y= 50,000 40,000 10,000
50,000 40,000 10,000 01 At= 10,000
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10,000 11,400 A1,400101 AP 22l 21,400
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2 7,600,000 - JI& 9,000,0008 = A 1,400
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101 1244 6,000 0 6,000
6,000 0 6,000| 10 JI2tHIZ RSB 4 6,000
[0 2DEXAY 6,000
HOIE olgl 1,000,0002! * 1% » 6" = 6,000
2 6,000]
307 QI2t0I™ 380,000 312,901 67,099
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2B ALY 67,099
O NA=ZXAMHIAS KA
21X 380,000,0002 - JI& 312,901,0009 = 67,099
2 3 266,000 0| & 219,031] [= 46,969
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201 L2 1,500 2,000 A500
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307 2IzZtol A 2,000 3,000 A 1,000
2,000 3,000 A1,000(01 A2 ZHI A 1,000
O #APST HE0H (A=)
2 & 2,000,000& - J1& 3,000,000& = A 1,000
T MAT AN A 2 10,400 5,000 5,400
405 THAHF SHI 5,400 0 5,400
5,400 0 5,400 01 RtA&tR2EFHSHI 5,400
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SXNAIE S22 22/(01Y) 3,000 6,375 A3,375
301 Et2 A3 3,000 6,375 A3,375
3,000 6,375 A3,375 DERRIBLZ A3,375
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=Fs 3,000 7| & 3.000] [ 0]
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AL 1,903,340 1,626,720 276,620
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HEAL B2 L HEY WA 815,560 636,860 178,700
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780,000 600,000 180,000 |01 Al &t 180,000
0 588 YR HFIA
2 780,000,000 - JI& 600,000,0002 = 180,000
(= 28 180,000 71 & 0] [2 180,000]
(Al ZE 600,000 1% 600,000] [Al 0]
sEANE 2 600,000 600,000 0
401 AlEHIL LTI 600,000 600,000 0
600,000 600,000 [0t AlEHI 0
0 2DEEAY 0
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2 600,000,0002! - JI& 600,000,0002 = 0
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(Al BE 420,659 0| 420,000] [Al 659]
2DVIRST. 22LHN 97,920 0 97,920
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97,920 0 97,920 |01 At 2 E X513 97,920
O SHIEEA 97,920
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